Question Type : MCQ
Question ID : 61547510490
Option 1 1D : 61547540897
Option 2 ID : 61547540898
Option 3 ID : 61547540899
Option 4 ID : 61547540900
Status : Answered
Chosen Option : 3
Section : PART Il Computer Science and Applications
Q1 gonsider the following statements :
(=) The running time of dvpamic programming slgorithm iz alway #{p) where g i=
number of subproblems.
by When a recurrence relation has cyehic d dencr. 1t 15 1 ihle to use that
recurrence relation (unmodified) in a correct dynamic program.
) For a dynamic programming algorithm, computing all values in a bottom-up fashion
18 asymptotically faster than using recuraion and memorization.
idy If 5 problem X can be reduced to a known NP-hard problem. then X must be NP-hard
Which of the statement(s) is (ave) true?
Iy Only (bh and (a}
12y Only by
13) Only (b} and {(ch
{4) Only bpand (d)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510566
Option 11D : 61547541201
Option 2 ID : 61547541202
Option 3 ID : 61547541203
Option 4 ID : 61547541204
Status : Answered
Chosen Option : 4
Q2 e Go(v.T. 5. P} hbe any context-free grammar without anv 4 —productions or unit

productions, Let K be the maximum number of syimbols on the right of any production in P.
The maximum number of production rules for any equivalent grammar in Chomsly normal
form 1s given by

1y (E-1)|P|=IT|-1 @ (E-1)|Pi+|T|
15} KIP|+IT|1 @ K|P|+ITI

Where | | denotes the cardinality of the set,




[ |options 1. 1

2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510539
Option 1 1D : 61547541093
Option 2 ID : 61547541094
Option 3 1D : 61547541095
Option 4 1D : 61547541096
Status : Answered
Chosen Option : 3
Q.3 Which of the following 15 not needed by an encryprion algorithm used in Cryptography?
(1 EEY (2) Message
(4] Ciphertext (4] User details
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510515
Option 1 1D : 61547540997
Option 2 1D : 61547540998
Option 3 1D : 61547540999
Option 4 1D : 61547541000
Status : Answered
Chosen Option : 4
Q4 non-pipelined system takes 30ns to procesa a task. The same task can be processed mn a
four-segment pipeline with a clock evele of 10ns, Determine the speed up of the pipeline for
100 tasks.
i1y 3 2y 4
{3 3.01 dy 201
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510499
Option 1 1D : 61547540933
Option 2 1D : 61547540934




Option 3 ID : 61547540935
Option 4 ID : 61547540936
Status : Answered
Chosen Option : 4

Q5 ywnien tag is uzed to encloze any number of javascript statements in HTML document?
(1 <podes (2} ==cript>
(81 stitles 4 <body=
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 61547510506
Option 11D : 61547540961
Option 2 1D : 61547540962
Option 3 1D : 61547540963
Option 4 ID : 61547540964
Status : Answered
Chosen Option : 2
Q6 . .

Consider the following languages :

L =" ufat b "} nom 20

L. = {wwR | e {a. b}*} Where R represents reversible operation.

Which one of the following is (are) inherently ambiguous language(z)?

(1) only L; 2y only Ly

t3)  both L, and L, (4) neither L, nor L,

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 61547510538
Option 11D : 61547541089
Option 2 1D : 61547541090
Option 3 1D : 61547541091
Option 4 ID : 61547541092

Status : Answered




l Chosen Option : 4

Q7 Afatch List T with List 11

ListI List IT
{al  Frame attribute 1) tocreate lmk in HTML
(b) <=tr=tag {11} for vertical aliznment of content in cell
(e} Valign attribute {i11) to enclose each row in table
(d} =o>tag {ivh  to specify the side of the table frame

that dizplay border

Choosze the correct option from thoze given below :

(1) (a}-i1). (b)-(irh. {e)-m1), (d)-f1v)
(2 fa-itiy. thp=(ih. (et (di-(iv)
(5 (a-11v), (h)-iim), (e)-1), (di-a)

(41 fal-iai). (hi-fivh. (e (di-i)

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510575
Option 1 1D : 61547541237
Option 2 ID : 61547541238
Option 3 1D : 61547541239
Option 4 1D : 61547541240
Status : Answered
Chosen Option : 3
Q8 3 network with bandwidch of 10 Mhps can pass only an average of 12,000 frames per minute
with each frame carrying an average of 10,000 hits. What i= the throughput of this network?
(1) 1.000.000 bps ) 2.000.000 bps
(3 12,000,000 bps 14 1,200,00,000 bps
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510546
Option 11D : 61547541121
Option 2 1D : 61547541122
Option 3 ID : 61547541123
Option 4 1D : 61547541124




Status : Answered
Chosen Option : 4

Q.9 Consider ¥ ={w.x} and T = {x. v, z}. Define homomorphism & by :
Rz} =2=y
hw) = zruy
If L is the regular language denoted by v ={w + » *){wiw)*, then the regular language AL} iz
given by
{1 lzxyx+xzy)lzxyy) 2) |zr_y:1'+|_xz,\'}‘.)|zxy,vzxyyl'
i3} [zxyy +xey Hazzyy)* @ ey + I’.ﬁ;\-]' km-_\-za:\-,ﬂ
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510536
Option 11D : 61547541081
Option 2 ID : 61547541082
Option 3 1D : 61547541083
Option 4 1D : 61547541084
Status : Answered
Chosen Option : 2
Q10 4 tvee has Zn vertices of degree 1, 3n vertices of degree 2, n vertices of degree 3. Determine
the number of vertices and edges in tree.
(35) 1211 2y 112
(3 10.11 4 810
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510497
Option 1 1D : 61547540925
Option 2 1D : 61547540926
Option 3 1D : 61547540927
Option 4 1D : 61547540928
Status : Answered
Chosen Option : 1




Given GPLU time slice of 2ms and following list of processes.

Process Bursttime Aveival time

fms)
B 3 i}
B 4 2
P a b

Find average turnaround tune and average waiting time using round robin CPL scheduling?

{1 4.0 (2) 566 1.66

{3k b.66, 0 4 T2
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 61547510520
Option 11D : 61547541017
Option 2 1D : 61547541018
Option 3 1D : 61547541019
Option 4 ID : 61547541020

Status : Answered

Chosen Option : 2

Q12 Consider the following statements

Sy: Ifagroup (G.=) is of ovder n, and @ € G iz such that @™ = e for some integer m < n,
then m must divide n.

Ba: Ifa group (G, =) iz of even crder, then there must be an element @ € G such that & » ¢
and a*a=e.

Whach of the statements s {are) correct”

1 Omly 8

% Only Ss

13 Both 5; and S2

14) Meither 8; nor 8=
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 61547510556
Option 11D : 61547541161




Option 2 1D : 61547541162
Option 3 ID : 61547541163
Option 4 1D : 61547541164
Status : Answered
Chosen Option : 2
Q.13 What i= the worst case running tims of Insert and Extract-min_ in an implementation of a
priovity queue using an unscrted array? Assume that all insertions can be accomodated,
(1) 811, 8in) (21 Bn). 81)
(E]] 81}, 1) (41 Bin). in)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510527
Option 1 1D : 61547541045
Option 2 ID : 61547541046
Option 3 1D : 61547541047
Option 4 1D : 61547541048
Status : Answered
Chosen Option : 4
Q14 Consider the following statements :
5y :  These exizsts no algorithm for deciding if any two Turng machines M, and M,
accept the same language.
8, : Let M; and M. be arbifrary Turing machines, The problem 7o determine
LM, ) o LM, b1z undecidable.
Which of the statements 12 (are) correct?
(1} Only & 2 Only S,
[t Both 8 and S. (4) Neither §) nor S,
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510541
Option 11D : 61547541101
Option 2 1D : 61547541102
Option 3 ID : 61547541103
Option 4 1D : 61547541104
Status : Answered




l Chosen Option : 4

Q.15  Suppose a system has 12 magnetic tape drives and at time &, three processes are allotted

tape drives out of their need az given below ;

Maximum Needs Current Needs

ny 10 &
” 4 2
o 9 2

AT time &, the system is in safe state. Which of the following is safe sequence so thart
deadlock is avoided?

0 ey by @ (B 2o )

8 (P By o} W {py 2o b
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 61547510518
Option 11D : 61547541009
Option 2 1D : 61547541010
Option 3 1D : 61547541011
Option 4 ID : 61547541012

Status : Answered

Chosen Option : 4

Q.16 Let W, represents weight between node 7 at layer b and node j at layer (k-1 of a given
multilayer perceptron. The weight updation using sradient descent method 13 given by
cE iE
{1 Wyit+11 =Wyt +a—0<a <l {2y WLit+1) =Wyt —e—.0za <l
[ o ks o, ] ( oW,
() Wuu+11=a%.0$:z£l ey %U+l]=—a;£ Ozacl
Where o and E represents learning vate and Evvor in the output respectively,
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 61547510553
Option 11D : 61547541149




Option 2 1D : 61547541150
Option 3 1D : 61547541151
Option 4 ID : 61547541152
Status : Answered
Chosen Option : 2

Q17 The Reduced Instruction Set Computer (RISC) characteristics are ;
ia) Bingle cycle instruction exscution
b Variable length instruction formats
{c) Instructions that manipulates operands in memory
) Efficient instruction pipeline
Choose the correct characteristics from the options eiven below :
1 {a) and (b) (2) (biand (c}
(3) (a) and (d) (4) (c)and (d)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 61547510558
Option 11D : 61547541169
Option 2 1D : 61547541170
Option 3 1D : 61547541171
Option 4 ID : 61547541172

Status : Answered

Chosen Option : 1

Q.18 A maero mstraction format has micreoperation field which 1z divided into 2 subfields F1 and
F2. each having 15 distinct microoperations, condition fiald CD for four status hita. branch
field BR having four options used in conjunction with address field AD. The address space 1=

of 128 memory words. The size of micro instruction is -

(B 1] 19 @2 18

(3 17 4 20
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 61547510501




Option 11D : 61547540941
Option 2 ID : 61547540942
Option 3 ID : 61547540943
Option 4 ID : 61547540944
Status : Answered
Chosen Option : 2
Q19 Iy s B.Tree sach node reprasentz a dizk block Suppess ane block holds 8182 brtes. Each
key uses 32 bytes, In a B-tree of order M there are M — 1 kevs. Since each branch iz on
anather dizls block. we assume a branch is of 4 hytes. The toral memory reguirement for a
non-leaf node iz
(1) 32M-32 {2 36M-32
194 36M- 36 4 32M-138
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510528
Option 11D : 61547541049
Option 2 ID : 61547541050
Option 3 1D : 61547541051
Option 4 ID : 61547541052
Status : Answered
Chosen Option : 2
Q.20  Which of the component module of DBMS does rearrangement and possible ordering of
operations, eliminate redundancy in gquery and use efficient algorithms and indexes during
the exceution of a query?
(1) query compiler (21 query optimizer
(3) Btored data manager (4) Database processor
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510510
Option 11D : 61547540977
Option 2 ID : 61547540978
Option 3 ID : 61547540979
Option 4 ID : 61547540980
Status : Answered
Chosen Option : 2




Q21 ronsider the following grammar :

S —»>0A|0BB

A—->00AA

B—=1B|11C

C—>B

Which lanzuage does thiz erammar generata?
L L{(00)*0+(11)*1) 2)
3) L{(00)* D) 4

Options 1. 1
2.2
3.3
4.4

L(0(11)* +1{00) %)

L(001)#1)

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

McQ
61547510535
61547541077
61547541078
61547541079
61547541080
Answered

2

Q.22
Maximize z=1x, + 1,

Subject to the constraints:

x; +2x, 2000
Xy +x, 21500
xs <G00
andx,.x, 20

The salution of the above LPP 1s:

Consider the following Linear programming problem (LPP) :

(1) 2 =750, x, =750.2=1500 (2)  x, =500.x, =1000.2 =1300

(33 x; =1000. x, = 500, 2=1500 4] x; =900.2. =600.2 =1500

Options 1. 1
2.2
3.3
4.4




Question Type : MCQ
Question ID : 61547510492
Option 1 1D : 61547540905
Option 2 ID : 61547540906
Option 3 ID : 61547540907
Option 4 ID : 61547540908
Status : Answered
Chosen Option : 1
Q.23 Let A be the base class in C++ and B be the derived class from A with protected inheritance,
Which of the following statement ia false for class B?
i1y Membher function of class B can access protected data of class A
2 Member function of Clas= B can access public data of class
3 Member function of class B cannot aceess private data of class A
4 Ohbject of derived clase B can aceess public base class data
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510505
Option 1 1D : 61547540957
Option 2 ID : 61547540958
Option 3 ID : 61547540959
Option 4 ID : 61547540960
Status : Answered
Chosen Option : 2

Q.24




Given two tables EMPLOYEE (EID. ENAME. DEPTNO)

DEPARTMENT (DEPTNO. DEFTNAME)

Find the most appropriate statement of the given query :
Select count (*) ‘total’
from EMPLOYEE
where DEFTNO IN (D1, D2)
group by DEPTNO

having count (%) =5

(5] Total number of employees in each department D1 and D2

(2 Total number of employees of department D1 and D2 if thewr total 15 =5

(3 Dizplay total number of employees in both departments D1 and D2

(4) The output of the query must have atleast two Tows

Options 1. 1
2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

McQ
61547510512
61547540985
61547540986
61547540987
61547540988
Answered

2

Q25 yyhich of the following are legal statements in C programming language?

(@) int * P = &44;
h) int * P = &r;
{c) int P = &a;
(d) int P=a:

Choose the correct option

(1) (a} and (h) (2)
{3) (b} and (d) 4)

Options 1. 1
2.2

(b) and ()
iay and (d)




3.3

4.4
Question Type : MCQ
Question ID : 61547510562
Option 11D : 61547541185
Option 2 1D : 61547541186
Option 3 1D : 61547541187
Option 4 ID : 61547541188
Status : Answered
Chosen Option : 1
Q.26 \Which of the following binary eodes for decimal digits ave self complementing?
[£:3] 8421 eode
[1:3] 2421 ende
{ch excesz-J code
{d) excess-3 gray code
Chooze the correct option
(1) {al and (b) (2)  (b)and(c)
3} {c) and (d) t4)  (dy and (a)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510559
Option 11D : 61547541173
Option 2 1D : 61547541174
Option 3 1D : 61547541175
Option 4 ID : 61547541176
Status : Answered
Chosen Option : 4
Q.27

Consider the following statements:

Si1: ¥xPix)v Ve@(x)and Vx(P(x)v@(x)) are not logically equivalent,

S2: Jx Pix)aJx@(x) and Jx(P(x)» @(x)) are not logically equivalent

Which of the following statements is/are correct?
1) Only 5: (2)
(3) Both 81 and Sa (4)

Only 82

Neither 81 nor 32




[|options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 61547510549
Option 11D : 61547541133
Option 2 1D : 61547541134
Option 3 1D : 61547541135
Option 4 ID : 61547541136

Status : Answered

Chosen Option : 4

Q.28  onsider a paging syatem where translation look aside buffer (TLB) a zpecial type of
asgzoclative memory iz used with hir ratio of 80%,

3

that memery rveference takes 30 nancseconds and reference time to TLB is
20 nanoseconds. What will be the effective memory access time given S0% hit ratio?

[§4] 110 nanczeconds 12) 116 nanoseconds
3 200 nanoseconds 4) 100 nanoseconds
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 61547510517
Option 11D : 61547541005
Option 2 1D : 61547541006
Option 3 1D : 61547541007
Option 4 ID : 61547541008

Status : Answered

Chosen Option : 2




@)

(b

le)

(d)

(1
{2t ]
()
4)
Options 1. 1
2.2
3.3
4.4

List 1

Functionality

Reliahality

Efficiency

Maintainahbility

(a1l (b (o)) (d)-iavy
ta)-iih, (by-(1). {o1-{aw). {d)-0m)
faj-h, (b)-41vh. (e)-{1). (d)-tm)

(ay-i}. (by-(iin. fo1-4iv). (di-im)

(i}

(i}

(1w}

Choose the corvect option from the ones given helow @

Aceording to the 150-9126 Standard Quality Model, match the arteibutes given in List-T with
their definitions in List-II:

Last 1L
Relationship  between  level  of
performance and amount of resources

Characteristics related with
achievement of purpose

Effert needed to make for improvement

Capability of software to mgaintain
performance of software

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

McQ
61547510573
61547541229
61547541230
61547541231
61547541232
Answered

2

{a)
(b
{c)
{d]

(1)

(3)
4)

Options 1. 1
2.2

Identify the circumstances under which pre-emptive CPU scheduling 1s used :

A process switches from Running state to Ready state

A process switches from Wailting state to Ready state

A process completes its execution

A process switches from Ready to Waiting state

Choose the correct option ;

{a) and (b) only
{a) and (d) only
i) and (d) only
{al). (b te) only




3.3

from the intended sender.

Which of the statements is {are) correct?

{1
(3]

Only iarand (b [#4]
Only (b and ()

Only (a) and (e}

(4)  (a}. (k) and (2)

Options 1. 1
2.2
3.3

4.4
Question Type : MCQ
Question ID : 61547510564
Option 11D : 61547541193
Option 2 1D : 61547541194
Option 3 ID : 61547541195
Option 4 ID : 61547541196
Status : Answered
Chosen Option : 4
Q.31 Which of the following interprocess communication model 1= used to exchange messages
among co-operative processes?
{1 Shared memory medel
{2) Message passing model
3 Shared memory and message pss=sing model
4 Queues
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510519
Option 11D : 61547541013
Option 2 ID : 61547541014
Option 3 ID : 61547541015
Option 4 ID : 61547541016
Status : Answered
Chosen Option : 3
Q.32 (nnsider the following statements with respect to netwark security -
{a) Meszage confidentiality means that the sender and the receiver expect privacy.
1] Message Integrity means that the data must arrive at the receiver exactly as they
were sent,
ieh Message authentication mesns the receiver 1s ensured that the message 15 coming




Question Type : MCQ
Question ID : 61547510569
Option 11D : 61547541213
Option 2 ID : 61547541214
Option 3 1D : 61547541215
Option 4 1D : 61547541216
Status : Answered
Chosen Option : 4
Q.33 §f we want to resize a 1024 x T68 pixels image to one that 1= 640 pixels wide with the same
aspect ratig, what would be the height of the resized image?
(58} 420 Pixels (2) 460 Pizels
3 480 Pixels (4 540 Pixels
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510509
Option 1 1D : 61547540973
Option 2 ID : 61547540974
Option 3 ID : 61547540975
Option 4 1D : 61547540976
Status : Answered
Chosen Option : 2
Q.34 T pime complexity to multiply twe polynominls of degree n using Fast Fourier transform
methad 13
(1) Hnlgn) 2 #in?)
131 &im) ) Slgn)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510532
Option 1 1D : 61547541065
Option 2 ID : 61547541066
Option 3 1D : 61547541067
Option 4 1D : 61547541068
Status : Answered




l Chosen Option : 1

Q.35

Consider the following learning algorithms :

() Logistic repression
(h) Back propogation

ic) Linear repression

Which of the following option represents clasaification algorvithms?

McQ
61547510571
61547541221
61547541222
61547541223
61547541224
Answered

(1) (a) and (b) only (2} (a) and (c) only
3) {b) and (e) only {4) {a). (b) and (c}
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option : 2

Q.36




The following multithreaded algorithm computes transpoese of a matrix in parallel :

p Tranz (X, ¥, N}

ifN=1

then ¥Y[1.1] « X[1.1]

else partition X into four (N /2)x (N/2) submatrices X;,.X;.. X X,,
partition ¥ into four (N /2) = (N /2) submatrices ¥, ¥, ¥, ¥,

spawn p Trans (X,,.%,,.N/2)

spuwit  Trans (X, ¥ N 72)

spawn p Trans (X,,.Y,, N/2)

spawn p Trans (X.,. ¥, N/ 2)

What iz the asymptotic parallelism of the algorithm?

(1 TT, or 8(N* /15 N) (@) TIT, or 6(N/1gN)

3 T,/ T. or 8l N/ N7) 4) T, /T.ovB(gN/N)

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 61547510565
Option 11D : 61547541197
Option 2 1D : 61547541198
Option 3 1D : 61547541199
Option 4 ID : 61547541200

Status : Answered

Chosen Option : 2

Q.37 Two concurrent executing transactions T, and T, are allowed 1o update same stock tem say
‘A" in an uncentrolled In=uch 10, following probl may oocur
tal Dirty read prohlem
(L] Lost update problem
(] Transaction failure
(di Inconsistent database state
Which of the following option 1= correct if database system has no concurrency module and
allows concurrent execution of above two fransactions?
i1 {a}, (b1 and {c) only (2y  ({e) and (d) only
(3 {arand (b} only (41 ta) My and (d) only

Options 1. 1

2.2




3.3

4.4
Question Type : MCQ
Question ID : 61547510563
Option 1 1D : 61547541189
Option 2 ID : 61547541190
Option 3 1D : 61547541191
Option 4 1D : 61547541192
Status : Answered
Chosen Option : 3
Q.38  Which of the following statements are true regarding C++7
(£:1] Overloading gives the capability 1o an existing operator to operate on other data
types,
[1:7] Inheritanece in object oriented programming provides support to reusability,
(e When object of a derived clazs iz defined. first the constructor of derived class is
execured then constructor of & base clas: is executed.
(d Overloading is a type of polymorphism,
Choose the correct option from those given helow ;
(2 1] {a) and ih) only
(24 ia), (bh and i¢) only
(9 {a). (b and (d) enly
(44 {bl, (e} and (d) only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510561
Option 11D : 61547541181
Option 2 ID : 61547541182
Option 3 ID : 61547541183
Option 4 1D : 61547541184
Status : Answered
Chosen Option : 3




Match the Agile Process models with the tazk performed during the model :

List I List IT
(@) Serum i) CRCcards
(hy  Adaptive software development (i) Sprint backlog
{¢)  Estreme programiming {1ii) =action= the «=pesuli= =by/forofito=
aln) =object=
{d)  Feature-driven development {iv}  Time hax relsaze plan

Choosze the correct option from those given below @

{1y {a)-(31), (b)-ixv), (e)-43). (db-(i}
2 (a)-(1). (hi-fidh. (epda). (di-iv)
(3 tani, tb-(ih ey, (dp-i)
4 {a)-(a), {bi-iivi, (er-i). {d)-riih
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510574
Option 1 1D : 61547541233
Option 2 ID : 61547541234
Option 3 1D : 61547541235
Option 4 1D : 61547541236
Status : Answered
Chosen Option : 4
Q.40 A eounting semaphore is initialized to & 8 wait { ) operations and 4 signal ( ) operations are
apphed. Find the current value of semaphore variabla.
[ (@ b
131 1 44
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510514
Option 1 1D : 61547540993
Option 2 1D : 61547540994
Option 3 1D : 61547540995
Option 4 1D : 61547540996
Status : Answered
Chosen Option : 2




QM

Consider the following stat

P Taodetermine the overlap meervals for scan lines that cross the avea.

encounter the

with respect to npproaches to fill aren on raster systems :

G To srart from a given interior position and paint outward from thiz peint until we
A oy

Select the correct answer from the options given below :

(1l  Ponly
2 only
3] Both Pand Q
(4 Neither P nor @
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510560
Option 11D : 61547541177
Option 2 1D : 61547541178
Option 3 1D : 61547541179
Option 4 1D : 61547541180
Status : Answered
Chosen Option : 4
Q42 Piconet is a basic unit of a bluetooth svstem consisting of master node and up
to ——————— mctive slave nodes.
1) one, five {2) one, seven
(3] two. eight (4)  one. eight
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510545
Option 11D : 61547541117
Option 2 1D : 61547541118
Option 3 1D : 61547541119
Option 4 1D : 61547541120
Status : Answered
Chosen Option : 4




Consider the following ;

(&) Trapping at local mamma
(b) Reaching a plateau

feh Traversal along the ridge.

o

Which of the following aption represents shortcomings of the hill chimbing algorithm?

(1 1ap and (b} only 2y {a) and (c) only

(31 (k) and {c) only (4) (aL (byand (¢}
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 61547510570
Option 11D : 61547541217
Option 2 1D : 61547541218
Option 3 1D : 61547541219
Option 4 ID : 61547541220

Status : Answered

Chosen Option : 4

Q.44 According to Dempster-Shafer theory for uncertainty manazement,

(1) BeliA)+ Beli-A)=1
2) Bel{A)+ Bel(—A)=1
3 BellA)+ Beli-A)=1
(4) Bel(A)+ Bell—A4)=0
Where Bel(A) denotes Belief of event A,

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 61547510548
Option 11D : 61547541129
Option 2 1D : 61547541130
Option 3 1D : 61547541131
Option 4 ID : 61547541132

Status : Answered

Chosen Option : 4




Q45 Find minimum number of tahles required for converting the fallowing entity relationship

dizgram into relational databaze?

A (¥)
B ER:
{n 2 @ 4
{3 3 4 b
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510513
Option 11D : 61547540989
Option 2 1D : 61547540990
Option 3 1D : 61547540991
Option 4 ID : 61547540992
Status : Answered
Chosen Option : 2

Q.46 Consider the following statements with respect to duality in LEP :

A The final simplex tahle giving optimal solution of the primal also contains optimal

solution of its dual m itself

[L:1] If either the primal or the dual problem has a finite optunal solution. then the other

problem also has a finite optimal solution.
If either problem has an
Lemsible solulion wl ull,

{eh bounded optimum solutt

then the other problem has no

Which of the statements is iare) correct?

3 H]
(1)

only (a) and (by
only (b and ic)

(2)
145

only {a) and (c)
{a), {b} and (c)
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 61547510557
Option 11D : 61547541165




Option 2 ID : 61547541166
Option 3 ID : 61547541167
Option 4 1D : 61547541168
Status : Answered
Chosen Option : 4
Q47 The Data Encryption Standard (DES) has a function consists of four steps. Which of the
following is correct crder of these four steps?
i1 an expansion permutation. 3-boxes. an XOR operation, a straight permutation
2 an expansion permutation. an XOR operation, S-boxes, a stwraight permutation
i3 a =traight permuration. 5-boxes. an XOR operation, an expansion psrmutation
4 a straight permutation. an XOR operation. 3-b . 81l eXp p ion
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510580
Option 1 1D : 61547541257
Option 2 ID : 61547541258
Option 3 1D : 61547541259
Option 4 1D : 61547541260
Status : Answered
Chosen Option : 3
Q48  Give asymptotic upper and lower bound for T{n) given below. Assume T{n) i= constant for
w2, Tln)=4TWn)+1e"n
1) Tlni=sllelle®nllen) 2y Tin)=ole*nlen)
@ T(n)=60" nlglzn) 4y Tin)=alglan)lgn)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510529
Option 1 1D : 61547541053
Option 2 ID : 61547541054
Option 3 ID : 61547541055
Option 4 1D : 61547541056
Status : Answered
Chosen Option : 2




The full form of ICANN iz

(1) Internet Corporation for Assigned Names and Numbers
(2) Internet Corporation for Assigned Numbers and Names
(3) Institute of Cooperation for Assizned Names and Numbers
(4) Internet Connection for Assipned Names and Numbers
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510547
Option 11D : 61547541125
Option 2 1D : 61547541126
Option 3 1D : 61547541127
Option 4 ID : 61547541128
Status : Answered
Chosen Option : 1
Q.80 Copsider a subnet with 720 routers. If a three-level hierarchy iz chosen. with eight clusters.
each containing 9 regions of 10 routers. then toral number of entries in hierarchical table of
each router is
(44 35 2y 27
[E1} 53 4 72
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510544
Option 11D : 61547541113
Option 2 1D : 61547541114
Option 3 1D : 61547541115
Option 4 1D : 61547541116
Status : Answered
Chosen Option : 2

Q.51




In a system for & vestaurant, the main scenario for placing order iz given below :
fal  Customer reads menu

b Custemer plaves oeder

fed  Orderis sent to kitchen for preparation

(d)  Orvdered items ave served

fet Customer reguesta for a bill for the crder

ifi  Bill is prepared for this ovder

(g  Customer is given the bill

(ht  Customer pays the hill

A sequence diagram for the scenaria will have atleast how many chjects among whom the
meszages will be exchanged,

1) 3 (2 4
[£:) BT [£10}
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 61547510523
Option 11D : 61547541029
Option 2 1D : 61547541030
Option 3 1D : 61547541031
Option 4 ID : 61547541032

Status : Answered

Chosen Option : 2

Q.52 (iven two tahles Rl(x. ¥ and B2y, z) with 30 and 30 number of tuples respectively. Find
maximum number of tuples in the output of natural join between tables RB1 and B2 1.
R1 = R2? (* - Natural Jomn)
1 ] 2y 20
(3 &l 4 1500
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 61547510511
Option 11D : 61547540981
Option 2 1D : 61547540982
Option 3 1D : 61547540983
Option 4 ID : 61547540984

Status : Answered




l Chosen Option : 3

Q.53  (onsider the following statements :

ial

b

L]

Windows Azure is a cloud-based operating system.

Google App Engine iz an integrated set of online services for consumers to
communicate and share with athers.

Amazon Cloud Front 15 a web service for content dehivery.

Which of the statements is (are) correct?

{1 Only ia) and (b) 2y Only (&) and (c)
3 Only ib) and ich 4y {a) (b} and ic)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510568
Option 11D : 61547541209
Option 2 1D : 61547541210
Option 3 1D : 61547541211
Option 4 ID : 61547541212
Status : Answered
Chosen Option : 4
Q54 1o 4= 001001111101} and B={01.111111.010}, Similarly, let €={00.001.1000} and
D={0.11.011},
Which of the following pairs have a post-correspondence solution?
(1 Only pair (4, B) 2y  Only pawr (C. D)
3 Both 1A, Byand (C, I 4y MNeither (4, By nor(C, Dy
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510542
Option 11D : 61547541105
Option 2 1D : 61547541106
Option 3 1D : 61547541107
Option 4 ID : 61547541108
Status : Answered
Chosen Option : 4

Q.55




An ———— charr 18 a project schedul P

ation that p

t: project plan as a

directed graph. The critical path 12 the sequence of tasks and it
defines projest ———————————
(1} Activity, Shortest, Independent, Cost
{2) Activity. Longest. Dependent. Duration
(3} Activity. Longest. Independent. Duration
4) Aptivity, Shortest, Dependent, Duration
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510524
Option 11D : 61547541033
Option 2 ID : 61547541034
Option 3 1D : 61547541035
Option 4 1D : 61547541036
Status : Answered
Chosen Option : 2
Q.56

Conzider & weighted divected graph, The current shortest distance from source S to node x iz

represented by dlr]. Ler dlv]=292. du]=15, wfe,v]=12, What iz the updated value of dfv]

bazed on current information?

{1 29 (L 27
{3} 25 $H 17
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510530
Option 11D : 61547541057
Option 2 1D : 61547541058
Option 3 1D : 61547541059
Option 4 ID : 61547541060
Status : Answered
Chosen Option : 2
Q.57

what is the value of 6*{modn)7

{1 160 (4]
{3) 157 (4}

Options 1. 1

Let o modn = (o) modn and o™ modn=o. (o medn. For a=7, b=17 and n =561,




2.2
3.3
4.4

Question Type : MCQ
Question ID : 61547510525
Option 11D : 61547541037
Option 2 1D : 61547541038
Option 3 1D : 61547541039
Option 4 ID : 61547541040

Status : Answered

Chosen Option : 3

Q.58 Consider the following statements ;

{al Fiber optic cable 1z much lighter than copper cable.
(k) Fiber aptic cahle is not affected by power surges or electromagnetic interference.

(eh Optical transmission is inherently bidirectional.

Which of the statements 1s (are) correct?

(6] Only (a) and (h) (2} Only (a) and (o]

{3 Only (b) and (¢} {4y {a), by and ic)
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 61547510567
Option 11D : 61547541205
Option 2 1D : 61547541206
Option 3 1D : 61547541207
Option 4 ID : 61547541208

Status : Answered

Chosen Option : 2

as9 Which of the following class of IP address has the last address as 223.255.255.2557
{1 Class A {2) Clas=B
{3) Claszs 4 Clas=D
Options 1. 1
2.2
3.3
4.4

[ Question Type : MCQ




Conesider the following gramimars ;

Gy: 8 —+aSh |bSa |aa
G,: S5 > aSb|bSe|SS |4
G;: 8 —»aSh|b5a|55|a

Gy:5 —+aSh|bSa| 851855 |4

Which of the following is corvect w.r.t. the above grammars?

3.3

h G, and @, are equivalent (2] G, and G, are equivalent

(&3] Go and (3 ave aguivalent (4] Gy and Gy ave equivalent
Options 1. 1

2.2

Question ID : 61547510543
Option 1 1D : 61547541109
Option 2 1D : 61547541110
Option 3 1D : 61547541111
Option 4 ID : 61547541112
Status : Answered
Chosen Option : 3
Q80 . computer uses a memory unit of 512 K words of 32 bitz each. A binary instruction code iz
stored in one word of the memory, The instruction has four parts: an addressing mode field
to specify one of the two-addresszing mede (direct and indirect). an operation code. o register
code part ta specify one of the 258 registers and an address part. How many bitz are thevs in
addressing mode part. opeode part. register code part and the address part”
1) 1.3,98.19 @ 1,49 18
(&3] 1.4.8.19 ) 1.3.8 20
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510500
Option 1 1D : 61547540937
Option 2 ID : 61547540938
Option 3 1D : 61547540939
Option 4 1D : 61547540940
Status : Answered
Chosen Option : 2
Q.61




Question Type : MCQ
Question ID : 61547510533
Option 11D : 61547541069
Option 2 1D : 61547541070
Option 3 1D : 61547541071
Option 4 ID : 61547541072

Status : Answered

Chosen Option : 3

Q.62
Weathar 5}\ | Hars Comm | | Teather Smritml | Commslink | | - Weather Tiatn
tiom | i ' } ]

Bequect (report)

rapar waathas )

regly (report)

ackmowledzn

Figure 1

The sequence diagram given in Figure 1 for the Weather Information Syatem takes place

when an

Erstem reqg = the 1zed data from the weather stotion. The

increasing erder of lifeline for the ohjects in the svatem ave:

(1) Sat comums — Weather station — Commslink — Weather data

2 Sat comms — Comme hink — Weather station — Weather data

(3 Weather data — Commes link — Weather station — Sat Comms

) Weather data — Weather station — Comums link — 3at Comms
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 61547510579
Option 11D : 61547541253
Option 2 1D : 61547541254
Option 3 1D : 61547541255
Option 4 ID : 61547541256

Status : Answered




l Chosen Option : 1

Q8% onsider the following langzuage families -

L, = The context — free languages

L, = The context — sensitive languages

L, = The recursively enmmerable languages

L, = The recarsive languages

Which one of the following options 1s correct?

(1 Lcl,cl;cL, @ LichcLck
(3) LcL.cL,clL; 4) LcLcL,cl

Options 1. 1

2.2
3.3
4.4

Question Type : MCQ
Question ID : 61547510540
Option 11D : 61547541097
Option 2 1D : 61547541098
Option 3 1D : 61547541099
Option 4 ID : 61547541100

Status : Answered

Chosen Option : 3

Q.64 When using Dijkstra’s alzorithm to find shortest path in a graph. which of the following
statement is not true?
1) It can find shortest path within the same graph data structure
(53] Every time a new node iz visited, we choose the node with smallest known distance/
ooet iweight) 1o visit fivst
3 Bhortest path always passes through least number of vertices
14} The graph needs tohave a non-negative weight on every edge
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 61547510531




Option 11D : 61547541061
Option 2 ID : 61547541062
Option 3 1D : 61547541063
Option 4 1D : 61547541064
Status : Answered
Chosen Option : 2
Q.65 Let the population of chromosomes in genetic algorithm is represented in terms of hinary
number. The strength of Atnese of a chromosome in decimal form, x, is given by
2 {x) = 2
Sfix}t= ;ﬁx}w.’lcmﬂxl- x
The population is given by P where
P={(01101, (110003, (11000), (100113}
The strength of fitness of ch: (110005 1=
(n 24 2y B76
(3 144 (4) 482
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510555
Option 1 1D : 61547541157
Option 2 ID : 61547541158
Option 3 ID : 61547541159
Option 4 1D : 61547541160
Status : Answered
Chosen Option : 1

Q.68




Match List-I and Last-IT :

List 1 List I
ia) Isolated T/O (i} same set of control signal for I'0 and
memory comimunication
iby  Memory mapped IO il separate Instructions for QG and
memory conumunication
il DO interface (1ii} requirezs comtrol  signals to he
transmitted between the

communicating units
idy  Asynchronous data transfer (v} resolve the differences in  central

computer and peripherals

Choose the correct option from those given below -

1) (al-(it), (hy-(innd, (or-ivh. (di-11)
(2 (a)-(1). (hy-(id). fe)-danh. (d)-iv)
3 {ad-tiky, (hy-(ih. (o) (i), (dh-iiii)

4) (al-0h, (hy-iii, fe)-(iv), (da-tilip

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510577
Option 11D : 61547541245
Option 2 ID : 61547541246
Option 3 ID : 61547541247
Option 4 ID : 61547541248
Status : Answered
Chosen Option : 4
Q.87  GConsider the language L = {a""* In > 2} on ¥ = {a. b}). Which one of the following srammars
generates the language L7
{1 S5—sadla. A—adblb 2 S—saodli A—sadbli
3 S —vacad|o. A-$adb|ld (4) S-—samed A—sadb|d
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510534
Option 11D : 61547541073
Option 2 ID : 61547541074




Option 3 1D : 61547541075
Option 4 ID : 61547541076
Status : Answered
Chosen Option : 3

Q.68 Let P ke the set of all people. Let B be a birary relation on Psuchthatia. byizin Rifas a
brother of b. Is R symmetric transitive. an eguivalence relation. a partial order relation”
[y NONCGNONG
{2 NONOGYES NG
&1 NOYESNONO
i NOYES YES.NO
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510495
Option 11D : 61547540917
Option 2 ID : 61547540918
Option 3 ID : 61547540919
Option 4 ID : 61547540920
Status : Answered
Chosen Option : 3
Q.69 Th » o Fanpan 1
e order of schema 71071017 and 7770271 are and respectively.
{1y 5,3 (2) 5.2
(2 7.8 ) 87
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 61547510554
Option 11D : 61547541153
Option 2 1D : 61547541154
Option 3 1D : 61547541155
Option 4 ID : 61547541156

Status : Answered

Chosen Option : 2




Martch List-T and List-II

List I Li=t I

ta) Physical layer i1 Provide token management service

(b} Transport laver iy Concerned with transmitting raw hits
over a eomimunication channel

e} Session layer {i1) Concerned with the syntax and
semantics af  the information
transmitted

(d} Presentation layver iv)  True end-to-end laver from source to
destination

Choose the correct option from those given below :
(1) taj-dinh (h)-(ivd, feb-(um). id)-)
@ (@h-i1v), (b)-{air), fei-im). (di-(1)
(8) (akdi thi-v), feb-), (d)-Gii)
4) t@a)-(iv), (h-(id, (ep-(i), dd)-tiii)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 61547510572
Option 11D : 61547541225
Option 2 1D : 61547541226
Option 3 1D : 61547541227
Option 4 ID : 61547541228

Status : Answered

Chosen Option : 4

Q.71 An instroction is stored at location 500 with its address field at location 501, The address
field has the value 400. A processor register R: containg the number 200, Match the
addressing mede (List-I) given below with effective address (List-II} for the given instruction:

List I List IT
{at  Direct 200
(hi  Register indirect @) ol
iel  Index with By as the index register i) 400
it Relative vy 600

Chooze the corvect aption from those grren below =

i1 Gal-giin (bd-1ih, der-a1vh, (d)-tii
{2 tab-ia) (Bi-(ath, (c)-m), (d)-(avh
3 fal-ivi. thi-fih, teh-1ith, (di-1
4 (ab-{1v], (hi-(1i1), feb-{11), id)-i1)
Options 1. 1
2.2




3.3
4.4

Question Type : MCQ
Question ID : 61547510576
Option 11D : 61547541241
Option 2 1D : 61547541242
Option 3 1D : 61547541243
Option 4 ID : 61547541244

Status : Answered

Chosen Option : 3

Q.72 A yoctangle is bound by the lines ¥=0:y=0:x=5andy=3. The line segment joining {~1. 0}

and (4. 5). if clipped against this window will connect the points

(1 (0. 1) &nd (3. 3) (2} 10, 1) and (2. 3)

(3) (0. 1y and (4. 3) (4} (0. 1)and (3, 5
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 61547510507
Option 11D : 61547540965
Option 2 1D : 61547540966
Option 3 1D : 61547540967
Option 4 ID : 61547540968

Status : Answered

Chosen Option : 1

Q73 : g s nya
Consider the following statements with respect to the language L = {a b lnz 0}

8, : I iz context free language

8.1 LF i3 conext-free languages for any given k=1

£ :L and L* are context free languages

Which one of the following is corvect?

(4)] only §; and S, (2y only 8, and S,
(3} only S, and 5, 4) 5.8, and 5;

Options 1. 1
2.2
3.3
4.4




Question Type : MCQ
Question ID : 61547510537
Option 1 1D : 61547541085
Option 2 ID : 61547541086
Option 3 1D : 61547541087
Option 4 1D : 61547541088
Status : Answered
Chosen Option : 2
Q.74 What are the greatest lower bound (GLE) and the least upper bound (LUB) of the sets
A=18.912) and B={1 2,4, 5 10} if they exist in poset (z7,/} 7
(13 AIGLE -3 LB - 36} BiGLE - 1. LITA - 70)
(2 A(GLE -3,LUB —-12); BiGLB-1.LUB-10)
(3} AGLB -1.LUB-36) . B (GLE -2, LUB-20)
4) AGLE-1, LUB-12): BIGLB-2, LUB-10)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510494
Option 1 1D : 61547540913
Option 2 ID : 61547540914
Option 3 1D : 61547540915
Option 4 1D : 61547540916
Status : Answered
Chosen Option : 2

Q.75

(ki
i)
tdk

(1
(2
(3)
(4)
Options 1. 1
2.2

March List-I with List-IT:

ListI
Micro operation
Micro programmed contrel unit
Interrupta

Micro instruetion

fai-ivk. thi-(a, (ed-ak (di-in)
(a)-(iv}, (b1, tep-tid (d)-ta)
{a)-Gii). (hi-Giv), (eh-a). (d)-(aip

{a)-ima). (b)-(v). (ci-(a). (di-i1}

Chooze the correct option from those given below @

List IT
Specify micro operations
Improve CPL uhilization

Centrol Memary

Elementary operation performed on

data atored in regieters




3.3

4.4
Question Type : MCQ
Question ID : 61547510578
Option 11D : 61547541249
Option 2 ID : 61547541250
Option 3 1D : 61547541251
Option 4 ID : 61547541252
Status : Answered
Chosen Option : 2
Q76 eligue in an undirested graph G ={V. E) is a subset V' C V' of verticea, such that
{1) I (4 v)eE then ueV' and ve V'
2) If (wv)e E then weV' or ve V'
3 Each pair of vertices in V' iz connected by an edge
4 All paire of vertices in V' are not connected by an edze
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510526
Option 11D : 61547541041
Option 2 ID : 61547541042
Option 3 ID : 61547541043
Option 4 ID : 61547541044
Status : Answered
Chosen Option : 2
Q.77 The Boolean expression AB+AB+AC+AC iz unaffected by the value of the Boolean
variahle -
{1 A @ B
13) c 4} ABand O
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510493
Option 1 1D : 61547540909




Option 2 1D : 61547540910
Option 3 1D : 61547540911
Option 4 ID : 61547540912
Status : Answered
Chosen Option : 3

Q.78  The weight of minimum spanning tree in sraph G, caleulated using Kruskal's algorithm is :

2 &
(1]
o| 4 7
3 2
Graph G
(1 14 2) 15
(3 17 4) 18
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 61547510496
Option 11D : 61547540921
Option 2 1D : 61547540922
Option 3 1D : 61547540923
Option 4 ID : 61547540924

Status : Answered

Chosen Option : 3

Q79 wWhich of the following CPU scheduling algonthma is/are supported by LINUX operating
svetem”
(18] Non-preemptive priority scheduling
123 Preemptive priovity scheduling and time shaying CPU scheduling
(31 Time zhaving scheduling only
(4) Priority scheduling only
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 61547510516
Option 11D : 61547541001




Option 2 1D : 61547541002
Option 3 1D : 61547541003
Option 4 ID : 61547541004
Status : Answered
Chosen Option : 1
Q.80 . «
What 1s the output of following C program?
# include <=stdio.h>
main( )
intij.x=0:
for 1=0:1<5: ++1)
for g=0:3<1:+4))
xF={+]=1)
break :
printf ("%d". x) :
(1) 6 (2)
(3) 2 (4)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510504
Option 11D : 61547540953
Option 2 1D : 61547540954
Option 3 ID : 61547540955
Option 4 ID : 61547540956
Status : Answered
Chosen Option : 4




11
2)

13y

4

Options 1. 1
2.2
3.3
4.4

Registers

Q.81 Which of the following methods are used fo pass
system through system call=?

Block or table in main memory

Stack

Block in main memory and stack

any number of parameters to the operating

Question Type :

Question ID
Option 11D

Mca

1 61547510521
1 61547541021
Option 21D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

61547541022
61547541023
61547541024
Answered

4

Q.82

1
(1]

Options 1. 1
2.2
3.3
4.4

AlB4
Al34

Location | Instruction
a10 CLA
011 ADD 016
iz BEUN 014
013 HLT
014 ANDO1T
015 BUXN 013
a16 C1A5
a17 H3CE

(%) B1B4
{4) 8184

The following program is stored in the memoery unit of the basic computer. Give the content
of aceumulator register in hexadecinal after the exeeution of the progran.

Question Type : MCQ
Question ID : 61547510503




Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

61547540949
61547540950
61547540951
61547540952
Answered

3

Q.83 Java Virtual Machine (JVAI is used to execute architectural neutral byte code. Which of the
following iz needed by the JVM for execution of Java Code?

1
2
i3
4

Options 1. 1

2.2
3.3
4.4

Cluss luader only
Clazz loader and Java Interpreter
Clasa loader, Java Interpreter and AP

Java Interpreter anly

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

McQ
61547510522
61547541025
61547541026
61547541027
61547541028
Answered

4

Q.84




Consider the game tree given helow

MAX
MIN
MAX
Z I | 1 1 ||
17T 19 18 11 112 15 1%

Heve O and [0 vepresent MIN and MAX nodes respectively, The value of the 1001 node of
the game tree iz

11 14 2 17

@ 111 ) 112
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 61547510550
Option 11D : 61547541137
Option 2 1D : 61547541138
Option 3 1D : 61547541139
Option 4 ID : 61547541140

Status : Answered

Chosen Option : 3

Q.85 A basic feazible zolution of an mwn transportation problem is said to be non-degenerate. if
hasie fessible solution ins exactly numkber of individual allocation in
positions.
(B4 m=n=+1, independent (2} m-+n-1, independent
13 m+n—1. appropriate 4y m-n-+1. independent
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 61547510491




Option 11D : 61547540901
Option 2 1D : 61547540902
Option 3 1D : 61547540903
Option 4 ID : 61547540904
Status : Answered
Chosen Option : 3

Given following equation:
(142) y+ (112) ;o= (75)s. find base b.

(1) 3 (2) 6

(3 s 4 5

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 61547510502
Option 11D : 61547540945
Option 2 1D : 61547540946
Option 3 1D : 61547540947
Option 4 ID : 61547540948

Status : Answered

Chosen Option : 4

as7 Consider the following models:

Mi: Mamdani madel

Msz: Takagi — Sugeno—Kang model

Maz: Hozka's additive madel (SAM)

Which of the following option contains examples of additive rule model?
(1)  Only M; and My

(2) Only M- and Ma

(3) Only M: and Ma

14 Mi.M-, and Ms

Options 1. 1




2.2
3.3
4.4

Question Type : MCQ
Question ID : 61547510551
Option 11D : 61547541141
Option 2 1D : 61547541142
Option 3 1D : 61547541143
Option 4 ID : 61547541144

Status : Answered

Chosen Option : 3

Q.88 A fuzzy conjunction perators, f(x.¥). ond a fuzzy disjunction operator, #(x. ). form a pair
1if they satisfy;

bz yi=1-sl-x1-3).

If tix.y) = then six.y) is given by
(x+y—ay)
: ik
(1 oo I Fir, i e e
1-xy 1-xy
a3 ay EXECEE
1-xy L+ xy
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 61547510552
Option 11D : 61547541145
Option 2 1D : 61547541146
Option 3 1D : 61547541147
Option 4 ID : 61547541148

Status : Answered

Chosen Option : 3

Q.89
How many reflexive relationg are there on a zet with 4 elements?
2 @ ¢
(3 4 4 2
Options 1. 1
2.2

3.3




Question Type : MCQ
Question ID : 61547510498
Option 11D : 61547540929
Option 2 1D : 61547540930
Option 3 1D : 61547540931
Option 4 ID : 61547540932
Status : Answered
Chosen Option : 1
Q.90 . . : . . S g
Which of the following algorithms 1s not used for line chpping?
13 Cohen-Sutherland algorithm
(2) Southerland-Hodgeman algorithm
(3) Liang-Barsky algorithm
(4) Nicholl-Lee-Nicholl algorithm
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510508
Option 11D : 61547540969
Option 2 1D : 61547540970
Option 3 1D : 61547540971
Option 4 ID : 61547540972
Status : Answered
Chosen Option : 4

Comprehension:




@3

//

Flowgraph F

Y.

SubQuestion No : 91
Qe How many predicate nodes are therve and what are their names?

(1) Three : (1. (2. 3). 6) (2] Three:(1. 4. 6

Options 1. 1
2.2
3.3
4.4

Answer the following question (91-95) based on flow graph F.

A flow graph F with entrv node (1) and exit node (117 iz chown below :

3) Four : ((2. 3). 6.10. 11) (4} Four: ({2, 3). 6. 0.10)

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

McQ
61547510586
61547541277
61547541278
61547541279
61547541280
Answered

4

Comprehension:




Answer the following question (91-95) based on flow graph F.

A flow graph F with entrv node (1) and exit node (117 iz chown below :

Flowgraph F

SubQuestion No : 92
Q.92 . . q
How many regions are there in flowgraph F?

(1) 2 2 3
(3) 4 4 5

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 61547510584
Option 11D : 61547541269
Option 2 1D : 61547541270
Option 3 1D : 61547541271
Option 4 ID : 61547541272

Status : Answered

Chosen Option : 2

Comprehension:




Answer the following question (91-95) based on flow graph F.

A flow graph F with entrv node (1) and exit node (117 iz chown below :

Flowgraph F

SubQuestion No : 93

Q.93 . : :
What is the cyclomatic complexity of flowgraph F?

(1) 2 2 3
(3) 4 4) 5

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 61547510583
Option 11D : 61547541265
Option 2 1D : 61547541266
Option 3 1D : 61547541267
Option 4 ID : 61547541268

Status : Answered

Chosen Option : 1

Comprehension:




Answer the following question (91-95) based on flow graph F.

A flow graph F with entrv node (1) and exit node (117 iz chown below :

Flowgraph F

SubQuestion No : 94

Q94 % "
How many nodes are there in the longest mdependent path?

M 6 @ 7
(3) 8 4y 9
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

McQ
61547510585
61547541273
61547541274
61547541275
61547541276
Answered

1

Comprehension:




Answer the following question (91-95) based on flow graph F.

A flow graph F with entrv node (1) and exit node (117 iz chown below :

Flowgraph F

SubQuestion No : 95

ass How many nodes are there in flowgraph F?
(1) 9 (2) 10
(3) 11 4y 12

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 61547510582
Option 11D : 61547541261
Option 2 1D : 61547541262
Option 3 1D : 61547541263
Option 4 ID : 61547541264

Status : Answered

Chosen Option : 1

Comprehension:
Anawer gquestion (86-100) based on the problem statement given below :

An organization needs to maintain datobase having five attvibutes A, B, C, I, E, Theze
attributes are functionally dependent on sach other for which functionally dependency set F
is piven ag : F:1{A—=BC.D—E BC—»D A—-D} Considér a universal relation
R{A B.C.D. E) with functional dependency zst F. Also all attributes are simple and take
atomie values only.

SubQuestion No : 96




Q.96

(1
(2
(3)
(4)

Options 1. 1
2.2
3.3
4.4

Minimal cover F' of functional dependency set Fis

F'={A>B. A—-C. BC—>D.D->E}
F'-{ABC.B>D.D->E}
F'={A>B.A>C.A—D.D- E}
F'={A->B.A-C.B—-D.C—D.D—E}

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

McQ
61547510588
61547541281
61547541282
61547541283
61547541284
Answered

2

Comprehension:
Answer gquestion (#6-100) based on the problem statement given below :

An organization needs to maintain database having five attributes A B C. D). E. These

attributes are functionally dependent on sach other for which functionally dependency set F
is gven as : F:{A+BC. D E BC>D A-»D} Consider a universal relation

RiA B C, D, E) with functional dependency ==t F, Also all attiibutes are simple and take
atomic values only.

SubQuestion No : 97

Assume that given table R is decomposed in two tables

ER,(A. B, C) with functional dependency set f, ={A—> B. A— C} and
BR,(A. D, E) with FDset F,={A— D. D E}.

Which of the following eption is true w.r.t. given decomposition?

(1) Dependency preservation property is followed

(2) R, and R, are hothin 2 NF

(3) R, isin2 NFand R, isin 3NF

(4) R, 15in 3 NFand R, 1sin 2 NF

Options 1. 1

2.2
3.3




Question Type : MCQ
Question ID : 61547510592
Option 11D : 61547541297
Option 2 1D : 61547541298
Option 3 1D : 61547541299
Option 4 ID : 61547541300

Status : Answered

Chosen Option : 2

Comprehension:
Anawer gquestion (86-100) based on the problem statement given below :

An organization needs to maintain datobase having five attvibutes A, B, C, I, E, Theze
attributes are functionally dependent on sach other for which functionally dependency set F
is piven ag : F:1{A—=BC.D—E BC—»D A—-D} Considér a universal relation
R{A B.C.D. E) with functional dependency zst F. Also all attributes are simple and take
atomie values only.

SubQuestion No : 98
Q.98 ; . -
Identify the redundant functional dependency in F

(1) BC—D 2y D—>E
(3) A—D 4y A->BC

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 61547510591
Option 11D : 61547541293
Option 2 1D : 61547541294
Option 3 1D : 61547541295
Option 4 ID : 61547541296

Status : Answered

Chosen Option : 1

Comprehension:
Answer gquestion (#6-100) based on the problem statement given below :

An organization needs to maintain database having five attributes A B C. D). E. These
attributes are functionally dependent on sach other for which functionally dependency set F
is gven as : F:{A+BC. D+ E BC—»D A—-Dj Consider a universal relation
ElA B C.D. E) with functional dependency st F. Also all artributes ave simple and fake
atomic values only.




SubQuestion No : 99

Q.99 Identify primary key of table R with functional dependency set F

(1) BC 2y AD

(3) A 4] AB
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 61547510589
Option 11D : 61547541285
Option 2 1D : 61547541286
Option 3 1D : 61547541287
Option 4 ID : 61547541288

Status : Answered

Chosen Option : 3

Comprehension:
Answer gquestion (#6-100) based on the problem statement given below :

An organization needs to maintain database having five attributes A B C. D). E. These

attributes are functionally dependent on sach other for which functionally dependency set F
is gven as : F:{A+BC. D+ E BC—»D A—-Dj Consider a universal relation

RiA B C, D, E) with functional dependency ==t F, Also all attiibutes are simple and take
atomic values only.

SubQuestion No: 100
Q.100

Identify the normal form in which relation R belong to
(1) 1 NF (2) 2NF
(3) 3 NF {4y BCNF
Options 1. 1

2.2

3.3
4.4

Question Type : MCQ
Question ID : 61547510590
Option 11D : 61547541289
Option 2 1D : 61547541290
Option 3 1D : 61547541291
Option 4 ID : 61547541292

Status : Answered

Chosen Option : 1







